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The current and the voltage AC signals of an impedance are given in the figure.

Both signals were measured simultaneously.

SHYND nIn

5 NONY

Both signals were measured relative to the reference AC signal sin (a)t): which is not shown in the

figure.
con AN
24,31 us
3B2a g
0s
Ty
125us
45.14 us
a. {4 points}

What is the nature of impedance? Inductive or Capacitive, Explain!
{ 4 points}
What is the phase difference between the voltage and current signals?

The answer should be in tine units and in electrical degree units.

{ 4 points}

What 1s the power Tactor of the impedance?

{ 4 points}
What is the complex polar representation of the voltage signal?

{ 4 points}

What is 1the complex polar representation of the current signal?

DXTINY 9 TN 6 TPy
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